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Part II 3-Tier
ECONOMICS
PAPER-—III
(General)
Full Marks : 90
Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Nlustrate the answers wherever necessary.

Group—A

Answer any three questions : .3x10
1. Discuss basic characteristics of the Indian economy.

2. Briefly state the trends in India's National Income during
plan pericd.

{Turn Quer}



3. Critically discuss different poverty alleviation programmes
undertaken by the Government of India during plan

period.

4. Discuss how Reserve Bank of India controls money supply '

by controlling credit in the domestic economy.

5. What is Small Scale Industry (SSI) ? What are the needs
of 8Sls in India ? Briefly explain the problems they faced.
2+4+4

6. Discuss features of new agricultural technology which
has been introduced in the country since mid sixties.
How far has new agricultural technology been successful
in solving the problem of low agrarian productivity ?

5+5

Group—B

Answer any eight questions : 5x8

7. Do you think that occupational structure in Indian
economy has changed in required direction during plan

period ? Give arguments in favour of your opinion.

8. Identify some of the problems that India is facing due to
its heavy population pressure.
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9.

10.

11.

12.

13.

14.

15.

16,

17.

18,

19.

20.

Briefly discuss about some of the factors responsible
for growing umemployment in our country.

What is dual economy ? Can India be categorized as a

dual economy ?
What is land reform ? What are its basic instruments ?
What are the features _of MGNREGP in India?

Give some arguments for large scale industrialization in

the country.
What do you mean by food security ?
Give some arguments for bank nationalization in India.

Mention some of the measures undertaken by the
government of India to check inflation in the country.

What are the causes of rapid growth of public expenditure

in India during plan period ?
Briefly discuss the problem of public debt in India.

Mention some of the measures adopted by the Government

of India to increase export.

State the basic objectives of India's 12th five year plan.
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21.

22

23.

24,

25.
26.

27.

28.

29.

30.

Group—C

Answer any five questions : 5x4

What do you mean by the term ‘sectoral composition of
national income’? Why is it important ?

What is Lorenz Curve ? What is its use?

Mention some of the causes of rapid population growth
in India since independence. '

What are the causes of low size of agricultural holding
in India?

What are the problems of agricultural credit in India ?
What i1s Mahalanobis strategy?

Give some arguments in favour of privatization of
Public Sector Enterprises of India.

Mention some of the sources:- of revenue of the

central governmént of India.
What is MRTP act?

Give some arguments in favour of protection of

domestic industries.

C/15/B.A./Part-11{G)/3T(N)/Eco./3 {Continued)



‘»

I

T QTG FYIST erymrT [T
+WIGTI IUTOT [T ©RT BGT (RO T AT |

ﬁm—fﬁ

-mmﬁwfﬁm@wm: X0
1 SRS wdAew arfiw iRt wrsar 9
R AR SreTen Tt SICE sifeugf HrHrs wirsm 9T |

ol AR ©FS R TR wpre fem MEw ghwa
FEPRR € @3 FATATANER e 37

81 Tron fers i v $foar orfim S @Aifere 3¢t fmgceR st
AT (R R I oS w314

3 Wm@?mwﬁmm@fﬁﬁ%é
FEe RUER Ao Arwes e o1 +8+8

C/15/B.A. /Part-11(G)/ 3T{N}/Eco. /3 {Turn Quver)}



bl SRS bo-OF WAL NS5 (ATF 2GeTs Tgw P e gy
SIS 9 | SRR FET T8 SeAMANCTS I AT 4]

g P o O T TAK? ‘ ¢re
feetsi—x
A A WEh avie Tew we ¢ SXbr

1| BN A IR AT ST (SIS ISR T Ty

AfFeda WAR? (SR ISR T0F I e

b1 SETS GRYITE SIECE Prace mﬂmﬁﬁﬁmwm
mﬁﬂwﬁﬁw%ﬁ@aﬁw

@ymmwmﬁfﬁmqwam

so1 7aw GUAE &2 oern wLRAfere & fae SRy (vl e
sy 1 Tf W@ e @ YT afemzef e

33| $ETes MGNREGP-&3 tafgrafe 3t e

yoi (X JIAEeR R fS7 RRmag qors A I we |

C/15/B.A./Part-1I{G)/3T{N)/Eco./3 {Continued)



38t UMW IS T FRNe

3| SRS PRI WSIATHR FTH Y& wa |
#

sl TS Frgrr Sres o smer ¥ Rew SAmef
By 73

| B 7 e «Rewmene erre R JuE el 3%
TR ?

o | SRTST AFPH! HTAR FPT ALTHCH WTABA 9

Sa| e I Srwey wRw R 4Re qRge wewte St
7| | |

k0| SRTTH w ARARF «AfFFEn Frwel @ STy Bom 39

et —at
A A A5f5 A0 T62 7ha 3 ¢x8

331 WY SR (FANT TBA T B (@A 47 AT R

3| FAG @Y INF [A? F OweY @3 TITE 2

C/15/B.A./Part-11{G)/3T(N)/Eco./3 (Turn Ouver)



Yo WETS! ATTSIFE ORTS TO I T Iad T SroR 4|

38| OES F (BT FERASLAR I Bred 9 |

*
3¢ | SRS I TR gl I e
RY| TR HrFE e
| SREW WER CFER (@RIRATIT T0F IR0 & 78 |
W SRIST (IUN FAFIAT TN FASH B e #7|
3®| MRTP &3+ &¢ "
ool (AT PR ATHCR AT IEIH L w8

x

©/15/B.A./Part-11{G)/3T(N}/Eco./3 TB—



